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ECONOMICS
Paper - I

Note : This paper contains fifty (50) objective type questions. Each question carries
two (2) marks. All questions are compulsory.

Q. No. 1 to 10 : Read the following questions 4. Thatthe property, indifference curves never

and choose the correct answers from the
. . . intersect is based on the assumption of
options given below these questions.

A) Non-stability

(A) Function

(
1. Identity is also known as (
(C) Both (A) and (B)
(

)

B) Transitivity
)
)

(B) Production function D) Diminishing marginal utility

(C) Proportional changes o
5. The downward slope of indifference

(D) Accounting relationship curve indicates that

(A) Consumer can have more of both

2. Marshallian concept of elasticity of
goods

demand is known as
(B) Consumer can have only less of

(A) Price elasticity of demand both goods

(B) Income elasticity of demand (C) Consumer cannot have more of both

(C) Substitution elasticity of demand goods

(D) Consumer has less income to buy

(D) Cross elasticity of demand
both goods

3. Additional quantity bought due to on ,
6. Identify the correct form of

additional increase in real income is Cobb-Douglas production function.

(A) Price effect (A) Q = AK® Lb
(B) Substitution effect (B) P=AL*K"
(C) Income effect (C) B=K®AL®
(D) Consumption effect (D) K=BPAL®
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7. Which one of the following is not an
assumption of Classical Economics ?

(A) State intervention
(B) Full employment

(C)

(D) Price-wage flexibility

Perfect competition

8. Average propensity to save is
(A) Ratio of savings to investment
(B) Ratio of price to disposable income

(C) Ratio of total income to disposable
income

(D) Ratio of savings to disposable
income

9. The ‘liquidity trap’ refers to a situation
when the demand for money is

(A) Infinitely elastic with respect to rate
of interest

(B) Infinitely elastic with respect to
income

(C) Perfectly elastic with respect to rate
of interest

(D) Perfectly inelastic with respect to
income

10. ‘Permanent income’ hypothesis is
identified with

(A) Dusenberry
(B) J. M. Keynes
(C)

(D)

Milton Friedman
M. J. Farrel

K-0313

Total Number of Pages : 24

Q. No. 11 to 20 : Read the following questions
and select the correct option for the answer from

the list given below :

11. Monetary dimension of business cycle
is discussed by

a) R. G. Hawtrey
b) D. Ricardo

c) Von Hayek

d) P. A. Samuelson

12. If the national saving rate is 6% and the
capital output ratio is 3%, then as per
Harrod-Domar Model prediction, the
economy will grow at

a) 0.5%
b) 2%

c) 18%
d) 3%

Codes :
(A) a) and b)
(B)
(©)
(D)

a

a) andc)

b
b

)
)
)
D) b)

and d)

Paper Il
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13. Capability approach to human

development is given by

a) M. Haqg and Amartya Sen
b) Romer and Lucas

c) T. R. Schultz and Sen

d) A. Lewis and Leibenstein

Total Number of Pages : 24
15. Sustainable development implies

a) Inter-generational equity
b) Intragenerational equity
c) ‘0’ growth rate

d) Stable growth rate

Codes:

Codes: (A) a)and )

A) ) (B) a) and d)

(B) a) and b)
(C) b)andc)
(C) c)andd)
(D) a)
(D) d) and a)

16. Sabina Alkire and James Foster

14. Indicators of Monetary Policy are
developed

a) Money base
a) Human Poverty Index

b) Wages
b) Multi-dimensional Poverty Index

c) Rent
o ¢) Human Deprivation Index
d) Bank liabilities and assets, short

term returns d) Gender Development Index

Codes : Codes :

(A) a)and b) (A) a)and c)
(B) b)and c) (B) b) and c)
(C) a)andc) (C) a) and d)

(D) a) and d) (D) b)

K-0313 ) Paper II
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17. The concept of ‘Knife Edge Growth’ was
popularised by

a) Solow
b) Solow and Marx
c) Arrow and Lewis
d) Harrod
Codes :

(A) b)andc)

(B) a) and d)

(C) d)

(D) b)and a)

18. The concept of organic composition of
capital is found in the Book
a) General Theory
b) Economics
c) Das Capital
d) Wealth of Nation
Codes :

(A) b)andc)
(B) a) and d)

(C) a)and b)

Total Number of Pages : 24

19. William Baumol, in his Inventory Theory
Approach claimed that holding cash

involved

a) Brokerage fee
b) Postage charges
c) Interest charges

d) Interest-income

Codes:

(A) a),¢), d)
(B) a), b),c)
(C) b),d),a)
(D) b),c),d)

20. The components of Tariff Rate Quota are
a) Anover Quota Tariff

b) A Quota that defines a maximum
volume of imports charged by the

nation within Quota Tariff
¢) A within Quota Tariff
d) An equal Quota Tariff
Codes :

(A) a),b),d)

Paper Il



AR AR

B3 Foa3, 21008330 : FINS TINER), .0,
ROCIRT B ETS (A) T QE5essS (R) o
#ooiraeuéodomq QeRT FRCT NP0 =03),
TNRRO:

21. I3TTR(A) 1 TR Teiegey A, =,0308
T eesosd @éﬁw
MOEIOTEDTONGS.

ABes (R) 1 SR T¥erwn) wom@mony

dfamé,s TN @mmﬁ@t

ﬁzi#&o ATDCITTOZT.
B
(A) (A) 75, (R) 2 e30
(B) (A) @23 (R) «0@» =0, (R) (A)ow
ROOINT DTTH
(C) (A) =23 (R) =0, wd (R) (A)ow
AOCINT VWO &)

(D) (A) 5= (R) =0, 533 (R) asieds
1 D)

22. Z3TTR(A) 1 08 TR Ted Q,MOHT

BR3IN JeTeoN WTRRD
Slecial
QZess (R) - efo@@odaddgt SUSCLIRING
) T FPTYF BT,
3R
(A) (A) =0 2y (R)=0, =g (R) (A)ow
ROOIRNT QWTCFBCIY,

(B) (A) B0 5%; (R) Rocsna om0
(C) (A) Ro, a3 (R) 3 om0
(D) (A) Rochey,, 535 (R) Ro

Paper Il

23.

24.

25.

Total Number of Pages : 24
2365 BRI 0TS T3
zﬁemsa BRODERD @m
3% a%’sacﬁ ARl d@{ NYRE0

B3TnE (A) =

QBe3S (R) :

&rame :

(A) ( ) R0 &2 (R) 7o, w3 (R) (A) 7
AOCINT GVET &)

(B) (A) =0 533 (R) ©ocin «vgd

(C) (A) o =2y (R) =oom

o}

(D) (A) Rooe, s (R)

B3TT (A) 1 2000 AQFR, TP,
BRBREFON ‘0’ =35
zaosmm 835° meaﬁa
c%draa%@o 153 DY

e
SRRRRTNDIS

QBe3s (R) :

BRCTE
~

(A) (A) Ro %3 (R) R0, 533 (R) (A) o
RoCIRT HTTReHY.

(B) (A) B0, %) (R) Boctna Qscs
(C) (A) o, 55 (R) Bocsoe,
(D) (A) Rochey, 33 (R) B0

B3Ton (A) 1 w07 Teadosn D3URER),
Tea0o LZT TUVT T CDT
TREIB DPOONT.
aReedd (R) @ b de&jojas%
DTTBONAT SRRPTSOD
SGONTERN WIRHMHET,
&acw@
(A) =033 (R) «0z@e 70, s8 (R)
(A) o3z RocIRT SREnotaclevelS]
(B) (A) o (R) Bocse),
(C) (A) &3 (R) mo morie (R) (A) o
ROCINT DFTH

(D) (A) Rocke, 52y (R) Ro

K-0313



Q. No. 21 to 30 : Read the following
questions and select the right combination of
Assertion (A) and Reason (R) from the
codes given below :

21. Assertion (A): Product differentiation
is the characteristic
feature of Monopolistic
competition.

Product differentiation
helps firms to increase
sales and revenue.

Reason (R) :

Codes :
(A) (A)isright, (R) is a wrong
explanation

(B) Both (A) and (R) are correct, (R) is
the correct explanation of (A)

(C) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A)

(D) Both (A) and (R) are correct, but (R)
is not the reason

22. Assertion (A): Interestrate varies
directly with the
money multiplier.

Reason (R) : Savings are
encouraged and
supply of money
increases.

Codes:

(A) (A)is correct and (R) is correct, but
(R) is not the right explanation of (A)
(B) (A) is correct and (R) is the correct

explanation

(C) (A)iscorrect, but (R) is an incorrect
explanation

(D) (A)isincorrect, but (R) is correct

K-0313
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23. Assertion (A): Deflating is adjusting a
value that is inflated.

: To get the real money
value.

Reason (R)

Codes:

(A) (A)is correctand (R) is correct. But
(R) is not the right answer for (A)

(B) (A) is correct and (R) is the right
answer

(C) (A)is correct and (R) is incorrect
(D) (A)isincorrect, but (R) is correct

24. Assertion (A): Geometric Mean can
not be calculated if a
particular value in a

series is ‘0.

Reason (R) : The values will be
unequal.

Codes :

(A) (A)is correct and (R) is correct, but

~—

(R) is not the right explanation of (A)

(B) (A) is correct and (R) is the right
explanation

(C) (A)is correct, but (R) is incorrect
(D) (A)isincorrect, but (R) is correct

25. Assertion (A): Lorenz curveis a
graphic method of
studying dispersion.

Reason (R): Lorenz curve is used in
the study of inequality
in the distribution.

Codes :

(A) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A)

(B) (A)is correct (R) is not correct

(C) (A) and (R) are correct and (R) is
the correct explanation of (A)

(D) (A)isincorrect and (R) is correct

Paper Il
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26. Assertion (A): Provision of subsidies

for ment goods is

justified.

Reason (R) : Social benefits exceed
individual benefits in
case of ment goods.

Codes :

(A) Both (A) and (R) are right, (R) is the
right explanation of (A)

(B) Both (A) and (R) are totally incorrect
(C) (A)is correct, but (R) is incorrect

(D) (A)is wrong, (R) is correct

27. Assertion (A): Costdifferences are the

basis of international

trade.

Reason (R) : Cost differences are
due to different factor
endowments.

Codes:

(A) Both (A) and (R) not related

(B) (A) and (R) are correct and (R) is

the correct explanation of (A)
(C) (A)is correct and (R) is incorrect

(D) (A)is not correct and but (R) is true

K-0313
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28. Assertion (A): Devaluation in a country
boosts in exports.

Reason (R) : Devaluation makes the
country’s exportables
cheaper.

Codes :

(A) Both (A)and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not correct explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
29. Assertion (A): Rate of Interest

influences the rate

and pattern of

investment.

Reason (R) : Saving is a function of
level of income and the
rate of interest.

Codes:

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)
(B) (A)istrue, but (R) is not correct
(C) Both (A) and (R) are not true

(D) (A) is false but (R) is not correct
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32. 35 BINST BT AROBNY TDOIRIFEOBI),
TOTOR.

a) PFRTT AT

b) Teow ToTeed %m@oéd Feowte R
C) HRVTF s f%w%oé

d) Tozne %)Cf%oéd TS R

BRCTE
~

(D) d),b), a),c)
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d) CREEROT SRFH AT
&ami :
(A) b),c),a),d)

(B) a),c),b),d)
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30. Assertion (A): Agriculture is the main
source of livelihood of
people in India.

Reason (R) : Measure for agricultural
development should be
undertaken.

Codes :

(A) (A)isincorrect and (R) is correct

(B) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(C) Both (A) and (R) are correct, but (R)
is incorrect explanation of (A)

(D) (A) is correct, but (R) is incorrect

Q. No. 31 to 40 : Read the questions and
select the correct sequence from the codes
given below :

31. Identify the chronology of the theory of
demand.

a) Indifference curve
b) Marshal’s theory of demand

c) Weak preference ordering theory of
demand

d) Revealed Preference theory

Codes :

(19
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32. |dentify the chronological order of the
following theories of Money.

a) Baumol’s theory

b) Cambridge version of quantity theory
c) Tobin’s theory of money

d) Fisher’s version of the quantity theory

Codes:

33. Identify the following growth theories in

chronological order.

a) Big Push theory

b) Balanced growth theory

c¢) Critical minimum effort thesis
d) Unbalanced growth theory

Codes:
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34. UETHYT 85 FENT ROFNYO TSTR0R
PRDETOT LROTEHFOT, LT0.

a) NABARD
b) IDBI

c) SIDBI

d) IFCI
EXENoJH

(A) a),c),b),d)

(D) d),b), a),c)

35. =8 CIS) efaézsadd B3 YNNI 203N
eﬁdagdosééojo@t TR

a) WOBRTY ei’§
b) ©QzT IS ST,
c) w9 eﬁ’§

d) 230 ez eﬁ§
EFENoJH

(A) a),c),b),d)

(B) d),c),a),b)
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36. CpeRRTES BREE Boeny
RIS ROTER.

a) V0K WHFETEI FP:F OB

b) =0T TS0

c) @wc(ﬁnéom POBFES B BT
=R0FReN T

d) ocd® e;a—’c;ﬁééedad

EFENoJH

(A) b),c),d),a)

(B) a),c),d),b)

(C) a),b),c),d)

(D) b), a),d),c)

37. @oédm%ewa megmdcﬁ 305%0353
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EFENoJH
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34. What is the chronological sequence of
the establishment of the following

institution in India ?
a) NABARD

b) IDBI

c) SIDBI

d) IFCI

Codes:

35. ldentify the following items of the balance
of payments accounts in sequence of
order.

a) Capital Account

b) Official Settlements Account
c) Current Accounts

d) Errors and Omissions

Codes:

K-0313
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36. Identify the following Rostow’s stages of
growth sequentially.

a) Pre-conditions of take-off
b) Traditional Society

c) Drive to maturity and age of high mass

consumption
d) Take-off

Codes:

37. ldentify the chronological order of the
International Trade theory.

a) Hecksher-Ohlin theory

b) Adam Smith’s Absolute Advantage
theory

c) Heberler's opportunity cost theory

d) Comparative cost advantage theory of
D. Ricardo

Codes:
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EFENoJH
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EFENoJH © 1 3 . ,
(A) a),b),c),d) D) 3 1 . ,
(B) d),b),c), a)
(©) b).a), d), <) 42, e -1 i3 — 2
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- 9
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c) NAREGA d) & 4) 353
d) TR 08 NS
EFENoJH a b c q
(A) a)’ b)! C)’ d) (A) 2 1 4 3
(B) a), c),b),d) B) 1 2 3 4
(C) d),a),b),c) C) 2 4 1 3
(D) d),b),c),a) (D) 4 1 3 2
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38. ldentify the following in a sequential order.

a) Metallic money

b) Commodity money

c) Plastic money

d) Paper money

Codes :
(A) b), a),d),
(B) a), b)
(C) a),d)
(D) b),d)

(¢

b
,d
d

Q0 O

3

39. Identify the correct chronological order of
the following.

a) Relative income hypothesis

b) Keynes’ consumption function
c) Life cycle hypothesis
)

d) Friedman’s permanent income
hypothesis

Codes:

40. |dentify the order of sequence of the
following events in India.

a) 20 Point Programme

b) Prime- Minister Grama Sadak Yojana
c) NAREGA

d) Green Revolution
Codes :

Total Number of Pages : 24

Q. No. 41 to 50 : Read the following questions
and match the correct pair from List — | and II.

Use the codes given below for answering :

41. List—1

List— 1

a) Law of Absolute 1) Leontif

Advantage

b) Factor proportion 2) Marshal

and Trade

c) Offercurves

3) Adam Smith

d) Opportunity cost 4) Heberler

Codes:
a b c d
(A) 1 3 2 4
(B) 3 1 2 4
e 1 3 4 2
(D) 3 1 4 2
42. List—1 List— I
a) Perfect 1) Cournot
competition Model
b) Keynes 2) Time Element
c) Oligopoly 3) Uncertainty
theory
d) Knight 4) Liquidity
Codes:
a b c d
(A 2 1 4 3
(B) 1 2 3 4
(C) 2 4 1 3
(D) 4 1 3 2

(19)
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45. med -1 T -2
a) SRpFLFA 1) X>M>M,
b) FTE A, FT 2) Yyx = Yy
¢) BBRow0s 3 X——H
svZn-1
d) ‘&’ e 4) B,>3r>0
EXENoJH
a b c d
(A) 3 2 4 1
(B) 4 1 2 3
(C) 2 4 1 3
(D) 4 2 3 1
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EFENoJH
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43. List—1

a) Supply creates
its own demand

List— Il
1) J. B. Say

b) Choice reveals
preference

2) Adam Smith

c¢) Division of
labour is limited
by the extent of
market

3) D. Ricardo

Corn is high, not 4) Samuelson
because rent is

paid but rent is

paid because earn

is high

Codes:

o >

CICICE
QU NGNS
N N N 3
N W wWN O
WD W

)

44. List—1

a) Abstinence
theory of interest

List— Il
1) Knut Wicksill

b) Time preference 2) Irving Fisher
theory of interest

c) Loanable funds 3) N.W. Senior
theory of interest

d) Liquidity
preference
theory of interest

4) J. M. Keynes

Codes:

CIGICE

N AW DN D
W = N W T
A W = =20
- N A O
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45. List -1 List— Il
a) Leptokurtis 1) X>M>M,
b) Positive 2) Yyx = Txy
skewness
c) Co-relation 3) X—— "
svEZn—1
d) ‘t’ Test 4) B, >3r>0
Codes :
a b c d
(A) 3 2 4 1
(B) 4 1 2 3
(c) 2 4 1 3
(D) 4 2 3 1
46. List -1 List— Il
a) Monetary policy 1) Taxrate

b) Trade policy 2) Margin money

c) Credit policy 3) Imports and

exports

d) Fiscal policy 4) Bank rate

Codes :
a b c d
(A) 4 3 2 1
(B) 4 2 3 1
(C) 3 2 1 4
(D) 2 1 4 3
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47. a%-1 w%-z
a) T W0 1) wvssmeonne
T BOT RN
RFTOCE,
QOGS0
b) @90 uar%és 2) T @0
Y AOBRY,
C) AORRF =TT, 3) ROENY ;
SaateImpvely
00T
d) =63 uar%és 4) RIONIOD emaié
Gelorc]
3R
a b c d
(A) 2 1 3 4
(B) 3 2 4 1
(C) 2 3 1 4
(D) 1 3 4 2
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)
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ROGOTTHBNED
d) %omT® Rt 4) Mm% BF IS
STAGE! '
EFENoJH
a b c d
(A) 1 3 2 4
(B) 4 2 3 1
(C) 1 2 3 4
(D) 4 3 2 1
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49. e~ 1 Ted -2
a) 1dETZ 1) 2006
oY toty
drexd
b) o=, ITen 2) 1995
SIS
C) IRV WERLY  3) TeowoRd Ladeen
0TS
d) QPRT3ONND  4) LTI
ORI ¢I,05°
3R
a b c d
A 1 2 3 4
(B) 2 1 4 3
Cc) 4 2 3 1
(D) 3 4 1 2
50. “7‘;&‘23_1 ?4&23—2
a) 07 @. @R, 1) 3ROIY
b) focde 8T 2) 329 T2
ATOTBR NG
QTWOF FOWOR
c) 3, 3) gort cdneery
AT,
d) & oF. er,  4) 3B3eD deed
EFENoJH
a b c d
(A) 2 3 1 4
(B) 2 3 4 1
(C) 3 2 1 4
(D) 3 2 4 1
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47.  List-1 List— 1l

a) Free Trade Area 1) No
restrictions
on trade and
factor
movement

b) Customs Union 2) Trade is Free
and no customs
duties

c) Common Market 3) No customs
duties ; duties
onnon-member

d) Economic Union 4) Advanced

stage of
integration
Codes:
a b c d
(A) 2 1 3 4
B) 8 2 4 1
Cc 2 3 1 4
(D) 1 3 4 2
48. List-1 List— 1l
(Committee) (Subject)
a) Tondon 1) Capital
Committee financing

b) Rakesh Mohan 2) Infrastructure

Committee development
¢) Narasimham 3) Financial
Committee Sector Reforms
d) Omkar Goswamy 4) Industrial
Committee Sickness
Codes :
a b c d
(A) 1 3 2 4
(B) 4 2 3 1
Cc) 1 2 3 4
(D) 4 3 2 1
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49. List—1 List— Il
a) Mid-day-meal 1) 2006
Scheme

b) Implementation 2) 1995

K-0313

of M-NREGA
c) Cash Reserve 3) Finance
Ratio Commission
d) Divisible taxes 4) Reserve Bank
of India
Codes :
a b c d
(A) 1 2 3 4
B) 2 1 4 3
(C) 4 2 3 1
(D) 3 4 1 2
50. List -1 List— I
a) Phillips A. W. 1) Wage Fund
b) Findlay 2) Trade-off
Shirras between
wage and
unemployment
c) Keynes 3) Taxable
capacity
d) Mills J. S. 4) Liquidity trap
Codes :
a b c d
(A) 2 3 1 4
(B) 2 3 4 1
(C) 3 2 1 4
(D) 3 2 4 1
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